20183 102 &= 1A AL &1 S

7t1ASS(THe - &)
T _ = = = s xS Ay
(328 %) o =) wasly | a4 | su= | us
AF2H17H/300~3509) 1,930 2,411 |- 481 -19.94%
Hij (17/650~700g) 2,324 3,022 |- 698 -23.09%
9(17}/1kg) 2,208 2,344 |- 136 -5.79%
Hij 2= (1% 7| /3kg) 4,001 6,188 |- 2,187 -35.34%
CHIH(1R =/1kg/QH 72t A) 4,684 - - -
2 0[(37H) 2,189 - _ ]
Cf K| 27| (2 A/ A4 AH600Q) 11,380 13,136 |- 1,756 -13.37%
wEAAD CH1 7](10F2] /1kg) 5,810 5,950 |- 140 -2.35%
(l65=) AMDI7|(Z2A/Z2HE| YK /15 2/6009) 30,314 - - -
A 7| (2= At/LAZHH| /600g) 18,387 - - -
CF2E1 3 /O 2H/3070) 4,599 5,255 |- 656 -12.48%
Z7|(10t2|/=A/15cm) 1,266 1,592 |- 326 -20.46%
Z+HX|(10F2| /=2 AH/60cm) 5,410 7,600 |- 2,190 -28.82%
150{(1ote2|/=4H/30cm) 2,233 2,440 |- 207 -8.47%
HEN(10Or2|/2{ A[OF4£F/40cm) 3,673 3,373 300 8.88%
5= %0 (10t2]/4=2 A/30cm) 4,231 3,682 549 14.91%
2H(20kg) 51,267 48,489 2,778 5.73%
He| s (= 4t/1kg) 3,681 - - -
OFIH(1kg) 1,807 1,788 19 1.06%
7hObs (1kg) 8,938 8,628 310 3.59%
o712 (=2 2 /1kg) 1,510 1,328 182 13.70%
= =(12/300g/4= QA2 A H E) 1,043 1,097 |- 54 -4.92%
M T = AMRo8L/27|8) 5,325 4,881 444 9.10%
(14E25) A Z5(14 350me/A 04 A) 1,262 1,252 10 0.80%
OHZ= (18 500me/A O &) 1,486 1,441 45 3.12%
AZS(14 350me/ Q| Al 4,000 4,000 Hst
OHZ= (18 500me/Q|Al) 4,000 4,000 Hst
= ETX=XGIN 1,674 1,635 39 2.37%
Z49(1L) 1,478 1,436 42 2.92%
SO (1L) 994 960 34 3.55%
7H Q1 A H| A Ef X| ZH[(160~200g/= Lj &1/ 2| ~) 12,000 12,000 Bt
(25 35) A4 4H160~200g/= LY At/ 2| Al 12,000 12,000 =3t




20183 102 =2EE=)I ZALIZE JIH
. . . IASEEE L § .
Ar2H(17l/300~350g) 1,600 1,600 2,500 1,518 1,780 1,970 1,410 1,700 2,725 2,500
HH{ (171/650~7009) 1,600 1,700 3,000 2,246 2,967 2,900 1,630 1,900 3,300 2,000
2(171/1kg) 3,000 2,000 2,000 2,480 2,523 2,280 2,500 1,800 1,300 2,200
Hi == (1% 7|/3kQ) 5,000 4,000 3,500 5,220 4,980 3,480 3,170 2,660 - -
CHIH1==/1kg/QF7EA) 3,000 3,200 4,000 4,380 7,160 7,000 2,980 5,000 3,600 6,520
2 0|(37H) 1,500 2,400 1,500 2,467 2,985 2,460 1,980 1,500 2,700 2,400
SN K| 27| (= AL/ A 2AH/60009) 13,000 10,200 12,500 10,680 | 10,680 | 10,140 | 11,100 | 11,800 | 12,000 | 11,700
A S0 7|(102|/1kg) 6,500 5,200 5,800 5,400 5,400 6,900 5,800 5,500 5,600 6,000
(16==) A 7|(ZA/ZHE|¥X|/152/600g)) 23,000 30,000 33,000 39,000 | 31,200 | 35400 | 31,200 | 27,000 | 24,000 | 29,340
227 (=A/LAZLH|/6009) 15,000 18,000 18,000 22,080 | 19,800 | 19,800 | 15,000 | 21,000 - | 16,800
ChZE(1ok/CH2H/307H) 3,500 4,900 3,700 4,280 5,780 5,580 | 4,900 3,250 5,200 4,900
Z7ar2|/=A/15cm) 1,100 1,000 1,000 1,980 1,500 1,500 1,130 - 920 -
2 X|(10r2| /= 4H/60cm) 5,000 5,500 5,000 5,980 6,800 5,000 5,000 5,000 - -
1S0{(10k2]/=4E/30cm) 2,000 2,000 3,000 1,600 1,800 2,450 2,500 3,000 1,750 -
HEQ(10Or2|/2{ A|OF£F/40cm) 3,000 3,500 3,000 4,980 2,500 - | 4,500 3,000 - 4,900
s Ao|nr2| /= 4t/30cm) - 4,000 5,000 3,580 3,800 3,200 3,800 4,500 5,200 5,000
2 (20kqg) 50,000 51,000 52,000 51990 | 53,800 | 53,980 | 45900 | 58,000 | 48,000 | 48,000
H 2| & (=3 4H/1kQ) 4,000 3,300 3,600 3,450 3,990 3490 | 4,000 4,000 3,300 -
QF1H(1kg) 1,500 1,900 1,300 1,990 1,600 1,600 1,380 2,500 2,000 2,300
7H0F=(1kg) 10,000 3,000 7,000 7,980 9,500 | 10,500 5,900 8,500 | 11,500 | 10,500
V7= (54 =2/1kg) 1,500 1,300 1,500 1,560 1,570 1,570 1,300 1,400 1,600 1,800
FE2(12/300g/+ /SN SE) 1,000 1,000 1,500 930 1,000 1,000 1,000 950 1,000 1,000
M= AE82(18L/37|E) 4,500 5,000 4,500 6,950 6,950 6,950 3,900 3,500 5,800 5,200
(14=5=) A1 350me/A~01 ™) 1,400 1,260 1,250 1,180 1,190 1,190 1,300 1,250 1,250 1,350
Oh=~(1Y 500me/A~0474) 1,700 1,430 1,450 1,410 1,460 1,460 1,450 1,400 1,450 1,650
A3(1H 350me/ 2] Al)
Sh==(18 500me/ 2| Al)
Aewib X B AjRE BE4T} HD 40| FAL BH0| SUSHA 20t M AIFIIAD Ko|7t LM % S
gL A IO AEAS 3, OIS 3 ARHOIE 2, 2EE
FAFCHA : 107 AGHEAI 3, CHEOLE 3, 4 zz=Ec
conl - ZAY 93 27tRUE8 HA| Y2 AN
ol | HIFIZHI(160~2000/3 L At/2|4)
2E=)

A7 4H(160~200g/= L A/ 2| A))




